Acta Mathematicae Applicatae Sinica, English Series © The Editorial Office of AMAS & Springer-Verlag GmbH Germany 2024

Long-time Asymptotics for the Reverse Space-time Nonlocal Hirota Equation with Decaying Initial Value Problem: without Solitons

Wei-qi PENG¹, Yong CHEN^{1,2,†}

¹School of Mathematical Sciences, East China Normal University, Shanghai 200241, China

([†]E-mail: ychen@sei.ecnu.edu.cn)

 2 College of Mathematics and Systems Science, Shandong University of Science and Technology, Qingdao 266590, China

Abstract In this work, we mainly consider the Cauchy problem for the reverse space-time nonlocal Hirota equation with the initial data rapidly decaying in the solitonless sector. Start from the Lax pair, we first construct the basis Riemann-Hilbert problem for the reverse space-time nonlocal Hirota equation. Furthermore, using the approach of Deift-Zhou nonlinear steepest descent, the explicit long-time asymptotics for the reverse space-time nonlocal Hirota is derived. For the reverse space-time nonlocal Hirota equation, since the symmetries of its scattering matrix are different with the local Hirota equation, the $\vartheta(\lambda_i)$ (i = 0, 1) would like to be imaginary, which results in the $\delta_{\lambda_i}^0$ contains an increasing $t^{\frac{\pm Im\vartheta(\lambda_i)}{2}}$, and then the asymptotic behavior for nonlocal Hirota equation becomes differently.

Keywords Riemann-Hilbert problem; reverse space-time nonlocal Hirota equation; long-time asymptotics; nonlinear steepest descent method

2020 MR Subject Classification 35C15; 35Q51

1 Introduction

In recent years, more and more scholars pay attention to nonlocal integrable equations in the area of integrable systems. The nonlocal nonlinear Schrödinger (NLS) equation

$$iq_t + q_{xx} + 2q^2q^*(-x,t) = 0 (1.1)$$

was first introduced by Ablowitz and Musslimani, and they derived its soliton solutions through the method of inverse scattering transform(IST)^[2, 3]. The nonlocal NLS equation(1.1) contains the *PT* symmetric potential which is invariant under the transformation $x \to -x$ and complex conjugation. The IST for the nonlocal NLS equation with nonzero boundary conditions at infinity was studied in Ref.[1]. It is worth mentioning that the long-time asymptotics for the integrable nonlocal NLS equation with decaying boundary conditions has been presented in Ref.[23]. Moreover, other nonlocal integrable equations were also investigated including nonlocal Davey-Stewartson equations, nonlocal modified KdV equation, nonlocal sine-Gordon equation, nonlocal derivative NLS equation, etc.[17, 21, 27, 28, 33, 35].

Recently, the reverse space-time nonlocal Hirota equation

$$iq_t + \alpha \left[q_{xx} - 2q^2 q(-x, -t) \right] + i\beta \left[q_{xxx} - 6qq(-x, -t)q_x \right] = 0$$
(1.2)

[†]Corresponding author.

Manuscript received October 24, 2022. Accepted on February 3, 2023.

The project is supported by the National Natural Science Foundation of China (No.12175069 and No. 12235007), Science and Technology Commission of Shanghai Municipality (No.21JC1402500 and No.22DZ2229014) and Natural Science Foundation of Shanghai (No.23ZR1418100).

was introduced by Cen, Correa and Fring in 2019^[6] as a PT symmetric reduction (r = q(-x, -t)) of the following system:

$$iq_t + \alpha [q_{xx} - 2q^2r] + i\beta [q_{xxx} - 6qrq_x] = 0,$$

$$ir_t - \alpha [r_{xx} - 2qr^2] + i\beta [r_{xxx} - 6qrr_x] = 0,$$
(1.3)

where $\alpha, \beta \in \mathbb{R}$. These two equations are transformed into each other by means of a *PT*-symmetry transformation. This reduction leads to (1.2) and is consistent with the *PT*-symmetry condition: if q(x,t) is a solution of (1.4), then q(-x, -t) is a solution as well. The other types of integrable nonlocal Hirota equation are also introduced in Ref. [6] including the reverse space-time nonlocal Hirota equation. The multi-soliton solutions of these nonlocal Hirota equations have been generated by DarbouxCrum transformations and Hirota bilinear method^[6]. The conjugate reverse space-time nonlocal Hirota equation with nonzero boundary conditions was investigated via Riemann-Hilbert(RH) method^[19]. Soliton solutions of the conjugate reverse space space nonlocal Hirota equation were obtained by the IST method and Darboux transformation method in Ref. [15] and Ref. [16], respectively. Using the Darboux transformation, some types of exact solutions of the reverse space-time nonlocal Hirota equation were found in Ref. [29].

In 1967, the IST was used to solve the KdV equation with Lax pairs by Gardner et al. for the first time^[9]. Since then, it played an increasingly important role in finding the exact solutions for integrable systems. Later on, a modern version of IST method, named RH formulation, was developed by Zakharov et al.^[32], and then the exact solutions and long-time asymptotics of various integrable equations were investigated using RH formulation^[5, 20, 25, 31, 34]. It is worth mentioning that Pelinovsky and Shimabukuro proved the existence of global solutions to the derivative NLS equation on the line from the perspective of inverse scattering transform based on the representation of a RH problem, which is a milestone in the development of $IST^{[18]}$. And what's more, in 1993, Deift-Zhou put forward the nonlinear steepest descent method for the first time to solve the oscillatory RH problem and derive the long-time asymptotics of solutions for the modified KdV equation^[8]. After that, this method has been employed to discuss the asymptotic analysis in a variety of integrable models^[4, 7, 10–12, 14, 26, 30]. In 2019, Dmitry Shepelsky et al. applied this method to study the long-time behavior of solutions to the initial boundary value problem of nonlocal NLS equations^[23]. Recently, they have extended the Deift-Zhou method to study the long-time asymptotic behavior of nonlocal integrable NLS solutions with nonzero boundary conditions and step-like initial data, respectively^[22, 24]. Besides, the Deift-Zhou nonlinear steepest-descent method was used to analyze the long-time asymptotics for the solution of the nonlocal mKdV equation^[13].

As we know, long-time asymptotics for the reverse space-time nonlocal Hirota equation (1.2) has not been reported. In this paper, we are committed to the Cauchy problem for the so-called defocusing reverse space-time nonlocal Hirota equation

$$iq_t + \alpha \left[q_{xx} - 2q^2 q(-x, -t) \right] + i\beta \left[q_{xxx} - 6qq(-x, -t)q_x \right] = 0, \quad x \in \mathbb{R}, \quad t > 0,$$

$$q(x, 0) = q_0(x),$$

(1.4)

with the initial data $q_0(x)$ belonging to the Schwartz space and rapidly decaying to 0 as $|x| \rightarrow \infty$. For the nonlocal Hirota equation, except to the symmetries of its Lax pair are different with the local Hirota equation, another major difference is that $\vartheta(\lambda_i)(i=0,1)$ are imaginary in our case, which leads to the $\delta^0_{\lambda_i}$ contains an increasing $t^{\frac{\pm Im\vartheta(\lambda_i)}{2}}$, and then the asymptotic behavior for nonlocal Hirota equation will behave differently. The pivotal result of this paper is generalized in what follows:

Theorem 1.1. Let q(x,t) be the solution of the Cauchy problem of the reverse space-time nonlocal Hirota equation (1.4) with $q_0(x)$ lying in the Schwartz space. As $t \to \infty$, for $\alpha^2 - 3\beta \frac{t}{r} > 0$

0, the leading asymptotics of the solution q(x,t) is

$$q(x,t) = \frac{\sqrt{\pi}t^{-\frac{1}{2} - Im\vartheta(\lambda_0)}e^{4i\lambda_0^2 t(4\beta\lambda_0 + \alpha) + 2\chi_0(\lambda_0) + \frac{\pi\vartheta(\lambda_0)}{2} + \frac{\pi i}{4} + iR\vartheta(\lambda_0)\ln t + i\vartheta(\lambda_0)\ln(32\lambda_0^2(\alpha + 6\beta\lambda_0))}{\sqrt{\alpha + 6\beta\lambda_0}r_1(\lambda_0)\Gamma(i\vartheta(\lambda_0))} + \frac{\sqrt{\pi}t^{-\frac{1}{2} + Im\vartheta(\lambda_1)}e^{4i\lambda_1^2 t(4\beta\lambda_1 + \alpha) + 2\chi_1(\lambda_1) - \frac{\pi}{2}\vartheta(\lambda_1) + \frac{\pi i}{4} - iR\vartheta(\lambda_1)\ln t - i\vartheta(\lambda_1)\ln(32\lambda_1^2(\alpha + 6\beta\lambda_1))}{\sqrt{\alpha + 6\beta\lambda_1}r_1(\lambda_1)\Gamma(-i\vartheta(\lambda_1))} + O(t^{-\frac{1}{2} - \max\{|\operatorname{Im}\vartheta(\lambda_0)|, |\operatorname{Im}\vartheta(\lambda_1)|\}}),$$

$$(1.5)$$

with

$$\lambda_{0} = \frac{-\alpha - \sqrt{\alpha^{2} - 3\beta\frac{x}{t}}}{6\beta}, \quad \lambda_{1} = \frac{-\alpha + \sqrt{\alpha^{2} - 3\beta\frac{x}{t}}}{6\beta},$$

$$\chi_{0}(\lambda) = \frac{1}{2\pi i} \int_{\lambda_{0}}^{\lambda_{1}} \ln\left(\frac{1 - r_{1}(s)r_{2}(s)}{1 - r_{1}(\lambda_{0})r_{2}(\lambda_{0})}\right) \frac{\mathrm{d}s}{s - \lambda},$$

$$\chi_{1}(\lambda) = \frac{1}{2\pi i} \int_{\lambda_{0}}^{\lambda_{1}} \ln\left(\frac{1 - r_{1}(s)r_{2}(s)}{1 - r_{1}(\lambda_{1})r_{2}(\lambda_{1})}\right) \frac{\mathrm{d}s}{s - \lambda},$$

$$\vartheta(\lambda_{0}) = -\frac{1}{2\pi} \ln(1 - r_{1}(\lambda_{0})r_{2}(\lambda_{0})),$$

$$\vartheta(\lambda_{1}) = -\frac{1}{2\pi} \ln(1 - r_{1}(\lambda_{1})r_{2}(\lambda_{1})),$$
(1.6)

where Γ is Gamma function, and $r_1(\lambda), r_2(\lambda)$ are the reflection coefficients.

This paper is organized as follows. In section 2, we perform the direct scattering theory to generate the associated RH problem, further the phase analysis is discussed in detail. In section 3, the nonlinear steepest descent method is used to analyse the long-time asymptotics of the solution for the reverse space-time nonlocal Hirota equation.

2 Inverse Scattering Transform and the Riemann-Hilbert Problem

At the very start, we should carry out the direct scattering analysis to construct the basis RH problem for the nonlocal Hirota equation (1.4), which is a compatibility condition of the following Lax pair^[6]

$$\begin{split} \phi_x = & X\phi, \qquad X \equiv \begin{pmatrix} -i\lambda & q(x,t) \\ q(-x,-t) & i\lambda \end{pmatrix}, \qquad \phi_t = T\phi, \qquad T \equiv \begin{pmatrix} Q & B \\ C & -Q \end{pmatrix}, \\ Q &= -i\alpha qq(-x,-t) - 2i\alpha\lambda^2 + \beta \left[q(-x,-t)q_x + qq_x(-x,-t) - 4i\lambda^3 - 2i\lambda qq(-x,-t)\right], \\ B &= i\alpha q_x + 2\alpha\lambda q + \beta \left[2q^2q(-x,-t) - q_{xx} + 2i\lambda q_x + 4\lambda^2q\right], \\ C &= i\alpha q_x(-x,-t) + 2\alpha\lambda q(-x,-t) \\ &+ \beta \left[2qq(-x,-t)^2 - q_{xx}(-x,-t) + 2i\lambda q_x(-x,-t) + 4\lambda^2q(-x,-t)\right], \end{split}$$
(2.1)

where λ means the spectral parameter, $\phi = \phi(x, t; \lambda)$ is the eigenfunction.

As $x \to \pm \infty$, due to the initial data rapidly decaying, the Lax pair (2.1) turns into

$$\phi_x^{\infty} = X_0 \phi^{\infty} = -i\lambda \sigma_3 \phi^{\infty}, \qquad \phi_t^{\infty} = T_0 \phi^{\infty} = (2\alpha\lambda + 4\beta\lambda^2) X_0 \phi^{\infty}, \tag{2.2}$$

where σ_3 represents one of the following Pauli matrices

$$\sigma_1 = \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}, \qquad \sigma_2 = \begin{pmatrix} 0 & -i \\ i & 0 \end{pmatrix}, \qquad \sigma_3 = \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}.$$
(2.3)

We can easily find that the Eq.(2.2) arrives at the following fundamental matrix solution

$$\phi^{\infty}(x,t;\lambda) = e^{-i\theta(x,t;\lambda)\sigma_3}, \qquad \theta(x,t;\lambda) = \lambda(x + \left[2\alpha\lambda + 4\beta\lambda^2\right]t). \tag{2.4}$$

Taking D_+ , D_- and Σ on λ -plane as $D_{\pm} = \{\lambda \in \mathbb{C} | \text{Im}\lambda \ge 0\}, \Sigma = \mathbb{R}$, the Jost solutions $\phi_{\pm}(x,t;\lambda)$ are

$$\phi_{\pm}(x,t;\lambda) = e^{-i\theta(x,t;\lambda)\sigma_3} + o(1), \qquad \lambda \in \Sigma, \quad \text{as} \quad x \to \pm \infty.$$
(2.5)

Through the variable transformation

$$\mu_{\pm}(x,t;\lambda) = \phi_{\pm}(x,t;\lambda)e^{i\theta(x,t;\lambda)\sigma_3},$$
(2.6)

the spectral problem (2.1) can be solved as the following Jost solutions μ_{\pm} , given by

$$\begin{cases} \mu_{-} = I + \int_{-\infty}^{x} \exp\left[-i\lambda\sigma_{3}\left(x-y\right)\right] (X - X_{0})\mu_{-} \exp\left[i\lambda\sigma_{3}\left(x-y\right)\right] \mathrm{d}y, \\ \mu_{+} = I - \int_{x}^{+\infty} \exp\left[-i\lambda\sigma_{3}\left(x-y\right)\right] (X - X_{0})\mu_{+} \exp\left[i\lambda\sigma_{3}\left(x-y\right)\right] \mathrm{d}y. \end{cases}$$
(2.7)

Proposition 2.1. Suppose $q \in L^1(\mathbb{R}^{\pm})$, then $\mu_{\pm}(x,t,\lambda)$ given in Eq.(2.7) satisfy the following properties:

- $\mu_{-1}(x,t,\lambda)$ and $\mu_{+2}(x,t,\lambda)$ is analytical in D_+ and continuous in $D_+ \cup \Sigma$;
- $\mu_{+1}(x,t,\lambda)$ and $\mu_{-2}(x,t,\lambda)$ is analytical in D_{-} and continuous in $D_{-} \cup \Sigma$;
- $\mu_{\pm}(x,t,\lambda) \to I \text{ as } \lambda \to \infty;$
- det $\mu_{\pm}(x, t, \lambda) = 1$, $x, t \in \mathbb{R}$, $\lambda \in \Sigma$.

Since the Jost solutions $\phi_{\pm}(x, t, \lambda)$ are the simultaneous solutions of Lax pair (2.1), they can meet the following linear relation contacted by a scattering matrix $S(\lambda) = (s_{ij}(\lambda))_{2\times 2}$, given by

$$\phi_{-}(x,t,\lambda) = \phi_{+}(x,t,\lambda)S(\lambda), \qquad \lambda \in \Sigma, \tag{2.8}$$

of which the scattering coefficients can be written into what follows

$$s_{11}(\lambda) = Wr(\phi_{-1}, \phi_{+2}), \qquad s_{12}(\lambda) = Wr(\phi_{-2}, \phi_{+2}), s_{21}(\lambda) = Wr(\phi_{+1}, \phi_{-1}), \qquad s_{22}(\lambda) = Wr(\phi_{+1}, \phi_{-2}).$$
(2.9)

Proposition 2.2. Suppose $q \in L^1(\mathbb{R}^{\pm})$, then the scattering matrix $S(\lambda)$ has the following properties:

• det $S(\lambda) = 1$ for $\lambda \in \Sigma$;

- $s_{11}(\lambda)$ is analytical in D_+ and continuous in $D_+ \cup \Sigma$;
- $s_{22}(\lambda)$ is analytical in D_{-} and continuous in $D_{-} \cup \Sigma$;
- $S(x, t, \lambda) \to I$ as $\lambda \to \infty$.

Furthermore, we need to study the symmetries of the Jost solutions $\phi(x, t, \lambda)$ and scattering matrix $S(\lambda)$ for the nonlocal Hirota equation. The detail reduction conditions for $X(x, t, \lambda)$ and $T(x, t, \lambda)$ in the Lax pair (2.1) on λ -plane are as follows:

$$X(x,t,\lambda) = -\sigma_2 X(-x,-t,\lambda)\sigma_2, \qquad T(x,t,\lambda) = -\sigma_2 T(-x,-t,\lambda)\sigma_2, \qquad (2.10)$$

which results in the Jost solutions $\Psi(x, t, \lambda)$, and scattering matrix $S(\lambda)$ has the following reduction conditions on λ -plane:

$$\phi_{\pm}(x,t,\lambda) = \sigma_2 \phi_{\mp}(-x,-t,\lambda)\sigma_2, \qquad S(\lambda) = \sigma_2 S^{-1}(\lambda)\sigma_2, \qquad (2.11)$$

which means $s_{12}(\lambda) = s_{21}(\lambda)$, and $s_{11}(\lambda), s_{22}(\lambda)$ are not directly related. This is different from the case of local Hirota equation.

According to the analyticity of Jost solutions $\mu_{\pm}(x, t, \lambda)$ in Proposition 2.1, we can define the following sectionally meromorphic matrices

$$M_{+}(x,t,\lambda) = \left(\frac{\mu_{-1}}{s_{11}},\mu_{+2}\right), \qquad M_{-}(x,t,\lambda) = \left(\mu_{+1},\frac{\mu_{-2}}{s_{22}}\right), \tag{2.12}$$

where \pm denote analyticity in D_+ and D_- , respectively. Then, a matrix RH problem is generated:

Riemann-Hilbert Problem. $M(x, t, \lambda)$ solves the following RH problem:

$$\begin{cases} M(x,t,\lambda) \text{ is analytic in } \mathbb{C} \setminus \Sigma, \\ M_{+}(x,t,\lambda) = M_{-}(x,t,\lambda)J(x,t,\lambda), & \lambda \in \Sigma, \\ M(x,t,\lambda) \to I, & \lambda \to \infty, \end{cases}$$
(2.13)

of which the jump matrix $J(x, t, \lambda)$ is

$$J(x,t,\lambda) = \begin{pmatrix} 1 - r_1(\lambda)r_2(\lambda) & -r_2(\lambda)e^{-2i\theta(x,t,\lambda)} \\ r_1(\lambda)e^{2i\theta(x,t,\lambda)} & 1 \end{pmatrix},$$
(2.14)

where $r_1(\lambda) = \frac{s_{21}(\lambda)}{s_{11}(\lambda)}, \ r_2(\lambda) = \frac{s_{12}(\lambda)}{s_{22}(\lambda)}.$ Let

$$M(x,t,\lambda) = I + \frac{1}{\lambda}M_1(x,t;\lambda) + O\left(\frac{1}{\lambda^2}\right), \qquad \lambda \to \infty,$$
(2.15)

then the potential q(x,t) of the nonlocal Hirota equation (1.4) is given by

$$q(x,t) = 2i [M_1]_{12} (x,t,\lambda) = 2i \lim_{\lambda \to \infty} \lambda [M]_{12} (x,t,\lambda).$$
(2.16)

3 The Long-time Behavior for the Nonlocal Hirota Equation

In this section, we primarily devote to discuss the long-time behavior for the nonlocal Hirota equation(1.4). Let's start with phase analysis, in terms of the works of Deift and Zhou^[8], we take $\frac{df}{d\lambda} = 0$, and then the stationary points of the function f are $\lambda_0 = \frac{-\alpha - \sqrt{\alpha^2 - 3\beta\xi}}{6\beta}$, $\lambda_1 = \frac{-\alpha + \sqrt{\alpha^2 - 3\beta\xi}}{6\beta}$ for $\alpha^2 - 3\beta\xi > 0$, there we have defined $f = \lambda(\xi + 2\alpha\lambda + 4\beta\lambda^2)$, $\xi = \frac{x}{t}$, and the signature distribution for Re (if) is shown in Figure 3.1. The steepest decent contours are

$$L: \{\lambda = \lambda_1 + \lambda_1 \rho e^{\frac{3\pi i}{4}} : -\infty < \rho \le \sqrt{2}\} \cup \{\lambda = \lambda_0 - \lambda_0 \rho e^{\frac{\pi i}{4}} : -\infty < \rho \le \sqrt{2}\},$$

$$L^*: \{\lambda = \lambda_1 + \lambda_1 \rho e^{-\frac{3\pi i}{4}} : -\infty < \rho \le \sqrt{2}\} \cup \{\lambda = \lambda_0 - \lambda_0 \rho e^{-\frac{\pi i}{4}} : -\infty < \rho \le \sqrt{2}\}.$$
(3.1)

3.1 Factorization of the Jump Matrix and Contour Deformation

We decompose the jump matrix $J(x, t, \lambda)$ into following two cases:

$$J = \begin{cases} \begin{pmatrix} 1 & -r_2 e^{-2ift} \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ r_1 e^{2ift} & 1 \end{pmatrix}, \\ \begin{pmatrix} 1 & 0 \\ \frac{r_1 e^{2ift}}{1 - r_1 r_2} & 1 \end{pmatrix} \begin{pmatrix} 1 - r_1 r_2 & 0 \\ 0 & \frac{1}{1 - r_1 r_2} \end{pmatrix} \begin{pmatrix} 1 & -\frac{r_2 e^{-2ift}}{1 - r_1 r_2} \\ 0 & 1 \end{pmatrix}.$$
(3.2)

Integrability and Asymptotic Analysis



Figure 3.1. The signature table for Re(if) in the complex λ -plane.

Then, we define a RH problem for the function $\delta(\lambda)$

$$\begin{cases} \delta_{+}(\lambda) = (1 - r_{1}(\lambda)r_{2}(\lambda))\delta_{-}(\lambda), & \lambda \in (\lambda_{1}, \lambda_{2}), \\ \delta(\lambda) \to 1, & \lambda \to \infty, \end{cases}$$
(3.3)

which can be solved by the Plemelj formula as

$$\delta(\lambda) = \exp\left\{\frac{1}{2\pi i} \int_{\lambda_0}^{\lambda_1} \frac{\ln(1 - r_1(s)r_2(s))}{s - \lambda} ds\right\}$$
$$= \left(\frac{\lambda - \lambda_1}{\lambda - \lambda_0}\right)^{i\vartheta(\lambda_0)} e^{\chi_0(\lambda)} = \left(\frac{\lambda - \lambda_1}{\lambda - \lambda_0}\right)^{i\vartheta(\lambda_1)} e^{\chi_1(\lambda)}, \tag{3.4}$$

where

$$\chi_{0}(\lambda) = \frac{1}{2\pi i} \int_{\lambda_{0}}^{\lambda_{1}} \ln\left(\frac{1 - r_{1}(s)r_{2}(s)}{1 - r_{1}(\lambda_{0})r_{2}(\lambda_{0})}\right) \frac{\mathrm{d}s}{s - \lambda},$$

$$\chi_{1}(\lambda) = \frac{1}{2\pi i} \int_{\lambda_{0}}^{\lambda_{1}} \ln\left(\frac{1 - r_{1}(s)r_{2}(s)}{1 - r_{1}(\lambda_{1})r_{2}(\lambda_{1})}\right) \frac{\mathrm{d}s}{s - \lambda},$$

$$\vartheta(\lambda_{0}) = -\frac{1}{2\pi} \ln(1 - r_{1}(\lambda_{0})r_{2}(\lambda_{0})),$$

$$\vartheta(\lambda_{1}) = -\frac{1}{2\pi} \ln(1 - r_{1}(\lambda_{1})r_{2}(\lambda_{1})),$$

(3.5)

so that

Im
$$\vartheta(\lambda_i) = -\frac{1}{2\pi} \int_{-\infty}^{\lambda_i} d \arg(1 - r_1(s)r_2(s)), \qquad i = 0, 1.$$
 (3.6)

Assuming that $\int_{-\infty}^{\lambda_i} d \arg(1 - r_1(s)r_2(s)) \in (-\pi, \pi)$, we have

$$|\mathrm{Im}\vartheta(\lambda)| < \frac{1}{2}, \qquad \lambda \in \mathbb{R},$$
(3.7)

then we get that $\ln(1 - r_1(\lambda)r_2(\lambda))$ is single-valued, and the singularity of $\delta(\lambda, \xi)$ at $\lambda = \lambda_0$ and $\lambda = \lambda_1$ is square integrable.

Let

$$M^{(1)}(x,t;\lambda) = M(x,t;\lambda)\delta^{-\sigma_3}(\lambda), \qquad (3.8)$$

then $M^{(1)}$ solves the RH problem on the jump contour \mathbb{R} shown in Figure 3.2,

$$\begin{cases} M_{+}^{(1)}(x,t;\lambda) = M_{-}^{(1)}(x,t;\lambda)J^{(1)}(x,t;\lambda), & \lambda \in \mathbb{R} = \Sigma^{(1)}, \\ M^{(1)}(x,t;\lambda) \to I, & \lambda \to \infty, \end{cases}$$
(3.9)

where

$$J^{(1)} = \begin{pmatrix} 1 & 0\\ \gamma_1(\lambda)e^{2ift}\delta_{-}^{-2} & 1 \end{pmatrix} \begin{pmatrix} 1 & -\gamma_2(\lambda)e^{-2ift}\delta_{+}^{2}\\ 0 & 1 \end{pmatrix},$$
 (3.10)

the functions $\gamma_1(\lambda), \gamma_2(\lambda)$ are defined as

$$\gamma_{1}(\lambda) = \begin{cases} \frac{r_{1}(\lambda)}{1 - r_{1}(\lambda)r_{2}(\lambda)}, & \lambda_{0} < \lambda < \lambda_{1}, \\ -r_{1}(\lambda), & \lambda < \lambda_{0} \cup \lambda > \lambda_{1}, \end{cases}$$

$$\gamma_{2}(\lambda) = \begin{cases} \frac{r_{2}(\lambda)}{1 - r_{1}(\lambda)r_{2}(\lambda)}, & \lambda_{0} < \lambda < \lambda_{1}, \\ -r_{2}(\lambda), & \lambda < \lambda_{0} \cup \lambda > \lambda_{1}. \end{cases}$$
(3.11)



Figure 3.2. The jump contour $\mathbb{R} = \Sigma^{(1)}$.

Performing the decomposition $J^{(1)} = (b_-)^{-1}b_+$, where

$$b_{-} = \begin{pmatrix} 1 & 0 \\ -\gamma_{1}(\lambda)e^{2ift}\delta_{-}^{-2} & 1 \end{pmatrix}, \qquad b_{+} = \begin{pmatrix} 1 & -\gamma_{2}(\lambda)e^{-2ift}\delta_{+}^{2} \\ 0 & 1 \end{pmatrix},$$
(3.12)

and taking

$$M^{(2)} = \begin{cases} M^{(1)}(\lambda), & \lambda \in \Omega_1 \cup \Omega_2, \\ M^{(1)}(\lambda)(b_-)^{-1}, & \lambda \in \Omega_3 \cup \Omega_4 \cup \Omega_5, \\ M^{(1)}(\lambda)(b_+)^{-1}, & \lambda \in \Omega_6 \cup \Omega_7 \cup \Omega_8, \end{cases}$$
(3.13)

we can deform the contour $\Sigma^{(1)}$ into the contour $\Sigma^{(2)} = L \cup L^*$ as displayed in Figure 3.3 and derive the following RH problem on the contour $\Sigma^{(2)} = L \cup L^* \cup \mathbb{R}$

$$\begin{cases} M_{+}^{(2)}(x,t;\lambda) = M_{-}^{(2)}(x,t;\lambda)J^{(2)}(x,t;\lambda), & \lambda \in \Sigma^{(2)}, \\ M^{(2)}(x,t;\lambda) \to I, & \lambda \to \infty, \end{cases}$$
(3.14)

where the jump matrix is

$$J^{(2)} = \begin{cases} I, & \lambda \in \mathbb{R}, \\ b_+, & \lambda \in L, \\ (b_-)^{-1}, & \lambda \in L^*. \end{cases}$$
(3.15)

Considering the jump matrix $J^{(2)}$ decaying exponentially to identity away from the stationary phase point λ_0, λ_1 as $t \to \infty$, we need take $D_{\lambda_0}^{\epsilon}$ and $D_{\lambda_1}^{\epsilon}$ be a disk of radius ϵ centered at λ_0 and λ_1 , with ϵ sufficiently small. Thus, we can change the contour $\Sigma^{(2)}$ into the contours $\Sigma^{(app)}$ and $\Sigma^{(err)}$ (see Figure 3.4).



Figure 3.3. The jump contour $\Sigma^{(2)}$ and domains Ω_j $(j = 1, \dots, 8)$.



Figure 3.4. The jump contour $\Sigma^{(2)}$.

Define

$$M^{(\text{app})} = M^{(\text{app})}_{\lambda_0} M^{(\text{app})}_{\lambda_1} = \begin{cases} I, & \text{outside } D^{\epsilon}_{\lambda_0} \cup D^{\epsilon}_{\lambda_1}, \\ \text{parametrix of } M^{(2)}, & \text{inside } D^{\epsilon}_{\lambda_0} \cup D^{\epsilon}_{\lambda_1}, \end{cases}$$
(3.16)

which means $M^{(\text{app})}$ has the same jump conditions as $M^{(2)}$ inside $D^{\epsilon}_{\lambda_0} \cup D^{\epsilon}_{\lambda_1}$. $M^{(\text{app})}_{\lambda_0}$ should possess a jump $J^{(\text{app})}_{\lambda_0}$ across the circle $D^{\epsilon}_{\lambda_0}$, $M^{(\text{app})}_{\lambda_1}$ should possess a jump $J^{(\text{app})}_{\lambda_1}$ across the circle $D^{\epsilon}_{\lambda_1}$. Besides, we obtain (see Appendix A)

$$J_{\lambda_{0}}^{(\text{app})} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2} - \text{Im}(\vartheta(\lambda_{0}))}) \\ O(t^{-\frac{1}{2} + \text{Im}(\vartheta(\lambda_{0}))}) & O(t^{-\frac{1}{2}}) \end{pmatrix},$$

$$J_{\lambda_{1}}^{(\text{app})} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2} + \text{Im}(\vartheta(\lambda_{1}))}) \\ O(t^{-\frac{1}{2} - \text{Im}(\vartheta(\lambda_{1}))}) & O(t^{-\frac{1}{2}}) \end{pmatrix}.$$
(3.17)

So the following RH problem is given for matrix $M^{(\mathrm{app})(x,t,\lambda)}$

$$\begin{cases} M^{(\text{app})}(x,t,\lambda) \text{ is analytic in } \mathbb{C} \setminus \Sigma^{(\text{app})}, \\ M^{(\text{app})}_{+}(x,t,\lambda) = M^{(\text{app})}_{-}(x,t,\lambda) J^{(\text{app})}(x,t,\lambda), & \lambda \in \Sigma^{(\text{app})}, \\ M^{(\text{app})}(x,t,\lambda) \to I, & \lambda \to \infty, \end{cases}$$
(3.18)

of which the jump matrix $J^{(\text{app})}(x,t,\lambda)$ is

$$J^{(\text{app})}(x,t,\lambda) = \begin{cases} J_i^{(\text{app})} = J_i^{(2)} \ (i=1,2,3,4), & \text{inside } D_{\lambda_0}^{\epsilon}, \\ J_i^{(\text{app})} = J_i^{(2)} \ (i=5,6,7,8), & \text{inside } D_{\lambda_1}^{\epsilon}, \\ J_{\lambda_0}^{(\text{app})} & \text{on } D_{\lambda_0}^{\epsilon}, \\ J_{\lambda_1}^{(\text{app})} & \text{on } D_{\lambda_1}^{\epsilon}, \end{cases}$$
(3.19)

where

$$J_{1}^{(2)} = J_{5}^{(2)} = \begin{pmatrix} 1 & -\frac{r_{2}(\lambda)}{1 - r_{1}(\lambda)r_{2}(\lambda)}e^{-2ift}\delta_{+}^{2} \\ 0 & 1 \end{pmatrix},$$

$$J_{2}^{(2)} = J_{6}^{(2)} = \begin{pmatrix} 1 & 0 \\ -r_{1}(\lambda)e^{2ift}\delta_{-}^{-2} & 1 \end{pmatrix},$$

$$J_{3}^{(2)} = J_{7}^{(2)} = \begin{pmatrix} 1 & r_{2}(\lambda)e^{-2ift}\delta_{+}^{2} \\ 0 & 1 \end{pmatrix},$$

$$J_{4}^{(2)} = J_{8}^{(2)} = \begin{pmatrix} 1 & r_{2}(\lambda)e^{-2ift}\delta_{+}^{2} \\ 0 & 1 \end{pmatrix},$$
(3.20)

For large λ , we define the factorization

$$M^{(2)} = M^{(\text{err})} M^{(\text{app})}, \qquad (3.21)$$

where the error term contains higher-order contribution from the contour $\Sigma^{(2)}$. Then matrix $M^{(\text{err})}(x,t,\lambda)$ meets the following RH problem:

$$\begin{cases} M^{(\operatorname{err})}(x,t,\lambda) \text{ is analytic in } \mathbb{C} \setminus \Sigma^{(\operatorname{err})}, \\ M^{(\operatorname{err})}_{+}(x,t,\lambda) = M^{(\operatorname{err})}_{-}(x,t,\lambda)J^{(\operatorname{err})}(x,t,\lambda), & \lambda \in \Sigma^{(\operatorname{err})}, \\ M^{(\operatorname{err})}(x,t,\lambda) \to I, & \lambda \to \infty, \end{cases}$$
(3.22)

of which the jump matrix $J^{(\mathrm{err})}(x,t,\lambda)$ is (see Appendix B)

$$J^{(\text{err})}(x,t,\lambda) = \begin{cases} J_i^{(\text{err})} = J_i^{(2)} = I + O(e^{-\tilde{C}t}), \ (i = 1, 2, \cdots, 8), & \text{outside } D_{\lambda_0}^{\epsilon} \cup D_{\lambda_1}^{\epsilon}, \\ J_{\lambda_0}^{(\text{err})} = (J_{\lambda_0}^{(\text{app})})^{-1} \text{ on } D_{\lambda_0}^{\epsilon}, \\ J_{\lambda_1}^{(\text{err})} = (J_{\lambda_1}^{(\text{app})})^{-1} \text{ on } D_{\lambda_1}^{\epsilon}. \end{cases}$$

$$(3.23)$$

Let's expand the matrices $M^{(2)}, M^{(\text{app})}_{\lambda_0}, M^{(\text{app})}_{\lambda_1}, M^{(\text{err})}$ at infinity into the Laurent series

$$M^{(2)} = I + \frac{M_1^{(2)}}{\lambda} + \frac{M_2^{(2)}}{\lambda^2} + \cdots, \qquad \lambda \to \infty,$$

$$M^{(\text{app})}_{\lambda_0} = I + \frac{(M^{(\text{app})}_{\lambda_0})_1}{\lambda} + \frac{(M^{(\text{app})}_{\lambda_0})_2}{\lambda^2} + \cdots, \qquad \lambda \to \infty,$$

$$M^{(\text{app})}_{\lambda_1} = I + \frac{(M^{(\text{app})}_{\lambda_1})_1}{\lambda} + \frac{(M^{(\text{app})}_{\lambda_1})_2}{\lambda^2} + \cdots, \qquad \lambda \to \infty,$$

$$M^{(\text{err})} = I + \frac{M^{(\text{err})}_1}{\lambda} + \frac{M^{(\text{err})}_2}{\lambda^2} + \cdots, \qquad \lambda \to \infty.$$
(3.24)

According to the factorization (3.21), comparing the coefficients of $\frac{1}{\lambda}$, we find

$$M_1^{(2)} = (M_{\lambda_0}^{(\text{app})})_1 + (M_{\lambda_1}^{(\text{app})})_1 + M_1^{(\text{err})}.$$
(3.25)

Thus the solution of the nonlocal Hirota equation (1.4) is

$$q(x,t) = 2i[M_1^{(2)}]_{12} = 2i[(M_{\lambda_0}^{(\text{app})})_1]_{12} + 2i[(M_{\lambda_1}^{(\text{app})})_1]_{12} + 2i[M_1^{(\text{err})}]_{12}.$$
 (3.26)

Similar to Refs.[5, 26], the absolution of matrix $M_1^{(\text{err})}(x, t, \lambda)$ in Eq.(3.22) satisfies (see Appendix C)

$$|M_1^{(\operatorname{err})}(x,t,\lambda)| = O(t^{-\frac{1}{2} - \max\{|\operatorname{Im}\vartheta(\lambda_0)|, |\operatorname{Im}\vartheta(\lambda_1)|\}}).$$
(3.27)

3.2 Reduction to a Model Riemann-Hilbert Problem

In this subsection, we will define a scaling transformation to separate the time t from the jump matrix, given by

$$\tilde{\lambda} = T_0(\lambda) = \sqrt{-8t(\alpha + 6\beta\lambda_0)}(\lambda - \lambda_0), \qquad \lambda \in \Sigma_{\lambda_0}^{(\text{app})}, \\ \tilde{\lambda} = T_1(\lambda) = \sqrt{8t(\alpha + 6\beta\lambda_1)}(\lambda - \lambda_1), \qquad \lambda \in \Sigma_{\lambda_1}^{(\text{app})}.$$
(3.28)

For a given function $\varphi(\zeta)$, one has

$$T_0(\varphi(\lambda)) = \varphi\Big(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha+6\beta\lambda_0)}} + \lambda_0\Big), \qquad T_1(\varphi(\lambda)) = \varphi\Big(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha+6\beta\lambda_1)}} + \lambda_1\Big).$$

Hence, we have

$$T_0(e^{-itf}\delta(\lambda)) = \delta^0_{\lambda_0}\delta^1_{\lambda_0}, \qquad T_1(e^{-itf}\delta(\lambda)) = \delta^0_{\lambda_1}\delta^1_{\lambda_1}, \tag{3.29}$$

where

$$\begin{split} \delta^{0}_{\lambda_{0}} &= \left[-32\lambda_{0}^{2}t(\alpha+6\beta\lambda_{0})\right]^{\frac{i\vartheta(\lambda_{0})}{2}}e^{2i\lambda_{0}^{2}t(4\beta\lambda_{0}+\alpha)+\chi_{0}(\lambda_{0})},\\ \delta^{1}_{\lambda_{0}} &= \tilde{\lambda}^{-i\vartheta(\lambda_{0})} \left(\frac{2\lambda_{0}}{\tilde{\lambda}/\sqrt{-8t(\alpha+6\beta\lambda_{0})}+\lambda_{0}-\lambda_{1}}\right)^{-i\vartheta(\lambda_{0})}\\ &\times e^{\frac{i}{4}\tilde{\lambda}^{2}(1-\frac{i\beta\tilde{\lambda}}{\sqrt{2t}(6\beta\lambda_{0}+\alpha)^{\frac{3}{2}}})}e^{\chi_{0}(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha+6\beta\lambda_{0})}}+\lambda_{0})-\chi_{0}(\lambda_{0})},\\ \delta^{0}_{\lambda_{1}} &= \left[32\lambda_{1}^{2}t(\alpha+6\beta\lambda_{1})\right]^{-\frac{i\vartheta(\lambda_{1})}{2}}e^{2i\lambda_{1}^{2}t(4\beta\lambda_{1}+\alpha)+\chi_{1}(\lambda_{1})},\\ \delta^{1}_{\lambda_{1}} &= \tilde{\lambda}^{i\vartheta(\lambda_{1})} \left(\frac{2\lambda_{1}}{\tilde{\lambda}/\sqrt{8t(\alpha+6\beta\lambda_{1})}}+\lambda_{1}-\lambda_{0}}\right)^{i\vartheta(\lambda_{1})}\\ &\times e^{-\frac{i}{4}\tilde{\lambda}^{2}(1+\frac{\beta\tilde{\lambda}}{\sqrt{2t}(6\beta\lambda_{1}+\alpha)^{\frac{3}{2}}})}e^{\chi_{1}(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha+6\beta\lambda_{1})}}+\lambda_{1})-\chi_{1}(\lambda_{1})}. \end{split}$$

3.2.1 The T₀ Scaling Transformation

Here, we first consider the scaling transformation of T_0 , it is easy to obtain the following RH problem

$$M_{+}^{(3)}(x,t;\tilde{\lambda}) = M_{-}^{(3)}(x,t;\tilde{\lambda})J^{(3)}, \qquad \tilde{\lambda} \in \Sigma^{(3)},$$
(3.31)

where we have defined

$$M^{(3)}(x,t;\tilde{\lambda}) = T_0(M^{(\text{app})}_{\lambda_0}(x,t;\lambda)), \qquad J^{(3)}(x,t;\tilde{\lambda}) = T_0(J^{(2)}_i(x,t;\lambda)), \qquad i = 1, 2, 3, 4.$$

In terms of the above analysis, one gets the new jump matrix $J^{(3)}$, given by (see Figure 3.5)

$$J_{1}^{(3)} = \begin{pmatrix} 1 & -(\delta_{\lambda_{0}}^{0} \delta_{\lambda_{0}}^{1})^{2} \frac{r_{2}}{1 - r_{1}r_{2}} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha + 6\beta\lambda_{0})}} + \lambda_{0} \right) \\ 0 & 1 \end{pmatrix},$$

$$J_{2}^{(3)} = \begin{pmatrix} 1 & 1 & 0 \\ -(\delta_{\lambda_{0}}^{0} \delta_{\lambda_{0}}^{1})^{-2}r_{1} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha + 6\beta\lambda_{0})}} + \lambda_{0} \right) & 1 \end{pmatrix},$$

$$J_{3}^{(3)} = \begin{pmatrix} 1 & (\delta_{\lambda_{0}}^{0} \delta_{\lambda_{0}}^{1})^{2}r_{2} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha + 6\beta\lambda_{0})}} + \lambda_{0} \right) \\ 0 & 1 \end{pmatrix},$$

$$J_{4}^{(3)} = \begin{pmatrix} (\delta_{\lambda_{0}}^{0} \delta_{\lambda_{0}}^{1})^{-2} \frac{r_{1}}{1 - r_{1}r_{2}} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha + 6\beta\lambda_{0})}} + \lambda_{0} \right) & 1 \end{pmatrix}.$$

$$J_{4}^{(3)} = \begin{pmatrix} J_{2}^{(3)} \int_{2}^{3} J_{1}^{(3)} \int_{2}^{3} J_{4}^{(3)} \int_{4}^{3} J_{4}^{(3)} J_{4}^$$

Figure 3.5. The jump contour $\Sigma^{(3)}$.

Since

$$M^{(3)} = T_0(M^{(\text{app})}_{\lambda_0}(\lambda)) = M^{(\text{app})}_{\lambda_0} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha+6\beta\lambda_0)}} + \lambda_0\right)$$
$$= I + \frac{(M^{(\text{app})}_{\lambda_0})_1}{\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha+6\beta\lambda_0)}} + \lambda_0} + \dots = I + \frac{M^{(3)}_1}{\tilde{\lambda}} + \dots .$$
(3.33)

Comparing the coefficient of $\tilde{\lambda}$ in above formulas, we have

$$M_1^{(3)} = \sqrt{-8t(\alpha + 6\beta\lambda_0)} (M_{\lambda_0}^{(\text{app})})_1.$$
(3.34)

Moreover, as $t \to \infty$, one obtains

$$\lim_{t \to \infty} \left(\frac{\tilde{\lambda}}{\sqrt{-8t(\alpha + 6\beta\lambda_0)}} + \lambda_0 \right) = \lambda_0,$$

$$\lim_{t \to \infty} \delta^1_{\lambda_0} = \tilde{\lambda}^{-i\vartheta(\lambda_0)} e^{\frac{1}{4}i\tilde{\lambda}^2}.$$
(3.35)

To separate the time t completely, we perform the following limiting operation

$$M^{(\infty)} = \lim_{t \to \infty} (\delta^0_{\lambda_0})^{-\hat{\sigma}_3} M^{(3)}, \qquad (3.36)$$

which changes the jumping curve $\Sigma^{(3)}$ into $\Sigma^{(\infty)}$, and leads to the following RH problem:

$$\begin{cases} M^{(\infty)}(x,t;\tilde{\lambda}) \text{ is analytic in } \mathbb{C} \backslash \Sigma^{(\infty)}, \\ M^{(\infty)}_{+}(x,t;\tilde{\lambda}) = M^{(\infty)}_{-}(x,t;\tilde{\lambda}) J^{(\infty)}(x,t;\tilde{\lambda}), & \tilde{\lambda} \in \Sigma^{(\infty)}, \\ M^{(\infty)}(x,t;\tilde{\lambda}) \to I, & \tilde{\lambda} \to \infty, \end{cases}$$
(3.37)

where

$$J_{1}^{(\infty)} = \begin{pmatrix} 1 & -\tilde{\lambda}^{-2i\vartheta(\lambda_{0})}e^{\frac{1}{2}i\tilde{\lambda}^{2}}\frac{r_{2}}{1-r_{1}r_{2}}(\lambda_{0})\\ 0 & 1 \end{pmatrix},$$

$$J_{2}^{(\infty)} = \begin{pmatrix} 1 & 0\\ -\tilde{\lambda}^{2i\vartheta(\lambda_{0})}e^{-\frac{1}{2}i\tilde{\lambda}^{2}}r_{1}(\lambda_{0}) & 1 \end{pmatrix},$$

$$J_{3}^{(\infty)} = \begin{pmatrix} 1 & \tilde{\lambda}^{-2i\vartheta(\lambda_{0})}e^{\frac{1}{2}i\tilde{\lambda}^{2}}r_{2}(\lambda_{0})\\ 0 & 1 \end{pmatrix},$$

$$J_{4}^{(\infty)} = \begin{pmatrix} 1 & 0\\ \tilde{\lambda}^{2i\vartheta(\lambda_{0})}e^{-\frac{1}{2}i\tilde{\lambda}^{2}}\frac{r_{1}}{1-r_{1}r_{2}}(\lambda_{0}) & 1 \end{pmatrix}.$$
(3.38)

To obtain the model RH problem, we define the following transformation

$$M^{(\text{mod})} = M^{(\infty)}G_j, \qquad \tilde{\lambda} \in \Omega_j, \qquad j = 0, \cdots, 4,$$
(3.39)

where

 α

$$G_{0} = e^{\frac{1}{4}i\tilde{\lambda}^{2}\sigma_{3}}\tilde{\lambda}^{-i\vartheta(\lambda_{0})\sigma_{3}},$$

$$G_{1} = G_{0} \begin{pmatrix} 1 & -\frac{r_{2}}{1-r_{1}r_{2}}(\lambda_{0}) \\ 0 & 1 \end{pmatrix}, \qquad G_{2} = G_{0} \begin{pmatrix} 1 & 0 \\ r_{1}(\lambda_{0}) & 1 \end{pmatrix},$$

$$G_{3} = G_{0} \begin{pmatrix} 1 & r_{2}(\lambda_{0}) \\ 0 & 1 \end{pmatrix}, \qquad G_{4} = G_{0} \begin{pmatrix} 1 & 0 \\ -\frac{r_{1}}{1-r_{1}r_{2}}(\lambda_{0}) & 1 \end{pmatrix}.$$
(3.40)

Through this transformation, we obtain a model RH problem for $M^{(mod)}$ with a constant jump matrix, given by

$$\begin{cases} M^{(\text{mod})}(x,t;\tilde{\lambda}) \text{ is analytic in } \mathbb{C} \setminus \mathbb{R}, \\ M^{(\text{mod})}_{+}(x,t;\tilde{\lambda}) = M^{(\text{mod})}_{-}(x,t;\tilde{\lambda}) J^{(\text{mod})}(x,t;\tilde{\lambda}), \qquad \tilde{\lambda} \in \mathbb{R}, \\ M^{(\text{mod})}(x,t;\tilde{\lambda}) \to e^{\frac{1}{4}i\tilde{\lambda}^{2}\sigma_{3}}\tilde{\lambda}^{-i\vartheta(\lambda_{0})\sigma_{3}}, \qquad \tilde{\lambda} \to \infty, \end{cases}$$
(3.41)

where

$$J^{(\text{mod})} = \begin{pmatrix} 1 - r_1(\lambda_0)r_2(\lambda_0) & -r_2(\lambda_0) \\ r_1(\lambda_0) & 1 \end{pmatrix}.$$
 (3.42)

The solution $M^{(\text{mod})}(\tilde{\lambda})$ of this RH problem can be given explicitly via using the parabolic cylinder functions.

In order to derive the asymptotic formulas in Theorem 1.1, we give the large- $\tilde{\lambda}$ behavior of $M^{(\infty)}(\tilde{\lambda})$ (see Appendix D)

$$M^{(\infty)}(\tilde{\lambda}) = I + \frac{M_1^{(\infty)}}{\tilde{\lambda}} + O\left(\frac{1}{\tilde{\lambda}}\right), \qquad \tilde{\lambda} \to \infty,$$
(3.43)

where

$$[M_{1}^{(\infty)}]_{12} = \frac{\sqrt{2\pi}i(-1)^{i\vartheta(\lambda_{0})-\frac{1}{2}}e^{-\frac{3\pi i}{4}+\frac{\pi\vartheta(\lambda_{0})}{2}}}{r_{1}(\lambda_{0})\Gamma(i\vartheta(\lambda_{0}))},$$

$$[M_{1}^{(\infty)}]_{21} = \frac{\sqrt{2\pi}i(-1)^{-i\vartheta(\lambda_{0})-\frac{1}{2}}e^{-\frac{\pi i}{4}+\frac{\pi\vartheta(\lambda_{0})}{2}}}{r_{2}(\lambda_{0})\Gamma(-i\vartheta(\lambda_{0}))}.$$
(3.44)

Therefore, combining (3.34), (3.36), (3.43) and (3.44), we have

$$[(M_{\lambda_0}^{(\text{app})})_1]_{12} = \frac{1}{\sqrt{-8t(\alpha+6\beta\lambda_0)}} [M_1^{(3)}]_{12} = \frac{(\delta_{\lambda_0}^{0})^2}{\sqrt{-8t(\alpha+6\beta\lambda_0)}} [M_1^{(\infty)}]_{12}$$
$$= \frac{\sqrt{2\pi} [32\lambda_0^2 t(\alpha+6\beta\lambda_0)]^{i\vartheta(\lambda_0)} e^{4i\lambda_0^2 t(4\beta\lambda_0+\alpha)+2\chi_0(\lambda_0)-\frac{3\pi i}{4}+\frac{\pi\vartheta(\lambda_0)}{2}}{\sqrt{-8t(\alpha+6\beta\lambda_0)}r_1(\lambda_0)\Gamma(i\vartheta(\lambda_0))}.$$
(3.45)



Figure 3.6. The jump contour $\Sigma^{(3)} \cup \Sigma^{(mod)}$.

3.2.2 The T₁ Scaling Transformation

Here, we perform the ${\cal T}_1$ scaling transformation, and obtain the following RH problem

$$M_{+}^{(3)}(x,t;\tilde{\lambda}) = M_{-}^{(3)}(x,t;\tilde{\lambda})J^{(3)}, \qquad \tilde{\lambda} \in \Sigma^{(3)},$$
(3.46)

where

$$M^{(3)}(x,t;\tilde{\lambda}) = T_1(M^{(\text{app})}_{\lambda_1}(x,t;\lambda)), \qquad J^{(3)}(x,t;\tilde{\lambda}) = T_1(J^{(2)}_i(x,t;\lambda)), \qquad i = 5, 6, 7, 8.$$

and the new jump matrix $J^{(3)}$ is (see Figure 3.7)

$$J_{5}^{(3)} = \begin{pmatrix} 1 & -(\delta_{\lambda_{1}}^{0} \delta_{\lambda_{1}}^{1})^{2} \frac{r_{2}}{1 - r_{1} r_{2}} \left(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_{1})}} + \lambda_{1} \right) \\ 0 & 1 \end{pmatrix},$$

$$J_{6}^{(3)} = \begin{pmatrix} 1 & 0 \\ -(\delta_{\lambda_{1}}^{0} \delta_{\lambda_{1}}^{1})^{-2} r_{1} \left(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_{1})}} + \lambda_{1} \right) & 1 \end{pmatrix},$$

$$J_{7}^{(3)} = \begin{pmatrix} 1 & (\delta_{\lambda_{1}}^{0} \delta_{\lambda_{1}}^{1})^{2} r_{2} \left(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_{1})}} + \lambda_{1} \right) \\ 0 & 1 \end{pmatrix},$$

$$J_{8}^{(3)} = \begin{pmatrix} (\delta_{\lambda_{1}}^{0} \delta_{\lambda_{1}}^{1})^{-2} \frac{r_{1}}{1 - r_{1} r_{2}} \left(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_{1})}} + \lambda_{1} \right) & 1 \end{pmatrix}.$$
(3.47)



Figure 3.7. The jump contour $\Sigma^{(3)}$.

Due to

$$M^{(3)} = T_1(M^{(\text{app})}_{\lambda_1}(\lambda)) = M^{(\text{app})}_{\lambda_1} \left(\frac{\lambda}{\sqrt{8t(\alpha + 6\beta\lambda_1)}} + \lambda_1\right)$$
$$= I + \frac{(M^{(\text{app})}_{\lambda_1})_1}{\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_1)}} + \lambda_1} + \dots = I + \frac{M^{(3)}_1}{\tilde{\lambda}} + \dots, \qquad (3.48)$$

we have

$$M_1^{(3)} = \sqrt{8t(\alpha + 6\beta\lambda_1)} (M_{\lambda_1}^{(\text{app})})_1.$$
(3.49)

Besides, we arrive at

$$\lim_{t \to \infty} \left(\frac{\tilde{\lambda}}{\sqrt{8t(\alpha + 6\beta\lambda_1)}} + \lambda_1 \right) = \lambda_1, \qquad \lim_{t \to \infty} \delta^1_{\lambda_1} = \tilde{\lambda}^{i\vartheta(\lambda_1)} e^{-\frac{1}{4}i\tilde{\lambda}^2}.$$

Similarly, we carry out the following limitation

$$M^{(\infty)} = \lim_{t \to \infty} (\delta^0_{\lambda_1})^{-\hat{\sigma}_3} M^{(3)}, \qquad (3.50)$$

and we obtain the following new RH problem:

$$\begin{cases}
M^{(\infty)}(x,t;\tilde{\lambda}) \text{ is analytic in } \mathbb{C} \setminus \Sigma^{(\infty)}, \\
M^{(\infty)}_{+}(x,t;\tilde{\lambda}) = M^{(\infty)}_{-}(x,t;\tilde{\lambda}) J^{(\infty)}(x,t;\tilde{\lambda}), & \tilde{\lambda} \in \Sigma^{(\infty)}, \\
M^{(\infty)}(x,t;\tilde{\lambda}) \to I, & \tilde{\lambda} \to \infty,
\end{cases}$$
(3.51)

where

$$J_{5}^{(\infty)} = \begin{pmatrix} 1 & -\tilde{\lambda}^{2i\vartheta(\lambda_{1})}e^{-\frac{1}{2}i\tilde{\lambda}^{2}}\frac{r_{2}}{1-r_{1}r_{2}}(\lambda_{1})\\ 0 & 1 \end{pmatrix},$$

$$J_{6}^{(\infty)} = \begin{pmatrix} 1 & 0\\ -\tilde{\lambda}^{-2i\vartheta(\lambda_{1})}e^{\frac{1}{2}i\tilde{\lambda}^{2}}r_{1}(\lambda_{1}) & 1 \end{pmatrix},$$

$$J_{7}^{(\infty)} = \begin{pmatrix} 1 & \tilde{\lambda}^{2i\vartheta(\lambda_{1})}e^{-\frac{1}{2}i\tilde{\lambda}^{2}}r_{2}(\lambda_{1})\\ 0 & 1 \end{pmatrix},$$

$$J_{8}^{(\infty)} = \begin{pmatrix} 1 & 0\\ \tilde{\lambda}^{-2i\vartheta(\lambda_{1})}e^{\frac{1}{2}i\tilde{\lambda}^{2}}\frac{r_{1}}{1-r_{1}r_{2}}(\lambda_{1}) & 1 \end{pmatrix}.$$
(3.52)

Next, we will aim to obtain a model RH problem by defining

$$M^{(\text{mod})} = M^{(\infty)}G_j, \qquad \tilde{\lambda} \in \Omega_j, \qquad j = 0, \cdots, 4,$$
(3.53)

where

$$\begin{aligned} G_0 &= e^{-\frac{1}{4}i\tilde{\lambda}^2 \sigma_3} \tilde{\lambda}^{i\vartheta(\lambda_1)\sigma_3}, \\ G_1 &= G_0 \begin{pmatrix} 1 & -\frac{r_2}{1-r_1 r_2}(\lambda_1) \\ 0 & 1 \end{pmatrix}, \qquad G_2 &= G_0 \begin{pmatrix} 1 & 0 \\ r_1(\lambda_1) & 1 \end{pmatrix}, \\ G_3 &= G_0 \begin{pmatrix} 1 & r_2(\lambda_1) \\ 0 & 1 \end{pmatrix}, \qquad G_4 &= G_0 \begin{pmatrix} 1 & 0 \\ -\frac{r_1}{1-r_1 r_2}(\lambda_1) & 1 \end{pmatrix}, \end{aligned}$$
(3.54)

then we obtain the following model RH problem:

$$\begin{cases} M^{(\text{mod})}(x,t;\tilde{\lambda}) \text{ is analytic in } \mathbb{C} \setminus \mathbb{R}, \\ M^{(\text{mod})}_{+}(x,t;\tilde{\lambda}) = M^{(\text{mod})}_{-}(x,t;\tilde{\lambda}) J^{(\text{mod})}(x,t;\tilde{\lambda}), \qquad \tilde{\lambda} \in \mathbb{R}, \\ M^{(\text{mod})}(x,t;\tilde{\lambda}) \to e^{-\frac{1}{4}i\tilde{\lambda}^{2}\sigma_{3}}\tilde{\lambda}^{i\vartheta(\lambda_{1})\sigma_{3}}, \qquad \tilde{\lambda} \to \infty, \end{cases}$$
(3.55)

where

$$J^{(\text{mod})} = \begin{pmatrix} 1 - r_1(\lambda_1)r_2(\lambda_1) & -r_2(\lambda_1) \\ r_1(\lambda_1) & 1 \end{pmatrix}.$$
 (3.56)

Performing the same procedure in Appendix D, we get the large- $\tilde{\lambda}$ behavior of $M^{(\infty)}(\tilde{\lambda})$:

$$M^{(\infty)}(\tilde{\lambda}) = I + \frac{M_1^{(\infty)}}{\tilde{\lambda}} + O\left(\frac{1}{\tilde{\lambda}}\right), \qquad \tilde{\lambda} \to \infty,$$
(3.57)

where

$$[M_1^{(\infty)}]_{12} = \frac{\sqrt{2\pi}ie^{-\frac{\pi}{2}\vartheta(\lambda_1)}e^{-\frac{3\pi i}{4}}}{r_1(\lambda_1)\Gamma(-i\vartheta(\lambda_1))}, \qquad [M_1^{(\infty)}]_{21} = \frac{\sqrt{2\pi}ie^{-\frac{\pi}{2}\vartheta(\lambda_1)}e^{-\frac{\pi i}{4}}}{r_2(\lambda_1)\Gamma(i\vartheta(\lambda_1))}.$$
 (3.58)



Figure 3.8. The jump contour $\Sigma^{(3)} \cup \Sigma^{(mod)}$.

Therefore, combining (3.49), (3.50), (3.57) and (3.58), we have

$$\begin{split} [(M_{\lambda_{1}}^{(\text{app})})_{1}]_{12} &= \frac{1}{\sqrt{8t(\alpha+6\beta\lambda_{1})}} [M_{1}^{(3)}]_{12} = \frac{(\delta_{\lambda_{1}}^{0})^{2}}{\sqrt{8t(\alpha+6\beta\lambda_{1})}} [M_{1}^{(\infty)}]_{12} \\ &= \frac{\sqrt{2\pi}i [32\lambda_{1}^{2}t(\alpha+6\beta\lambda_{1})]^{-i\vartheta(\lambda_{1})} e^{4i\lambda_{1}^{2}t(4\beta\lambda_{1}+\alpha)+2\chi_{1}(\lambda_{1})-\frac{\pi}{2}\vartheta(\lambda_{1})-\frac{3\pi i}{4}}}{\sqrt{8t(\alpha+6\beta\lambda_{1})}r_{1}(\lambda_{1})\Gamma(-i\vartheta(\lambda_{1}))}. \end{split}$$
(3.59)

Finally, combining (3.26), (3.27), (3.45) and (3.59), we can achieve the result of Theorem 1.1.

Integrability and Asymptotic Analysis

Appendix A

From Ref.[8], we have

$$M^{(\infty)} = (\delta^0_{\lambda_0})^{-\hat{\sigma}_3} M^{(3)} + O(t^{-\frac{1}{2}} \ln t).$$
(A.1)

For $\tilde{\lambda} \to \infty$,

$$M^{(3)} = I + M_1^{(3)}\tilde{\lambda}^{-1} + O(\tilde{\lambda}^{-2}) = I + (\delta_{\lambda_0}^0)^{\hat{\sigma}_3} (M_1^{(\infty)} + O(t^{-\frac{1}{2}}\ln t))\tilde{\lambda}^{-1} + O(\tilde{\lambda}^{-2}).$$
(A.2)

On $D_{\lambda_0}^{\epsilon}, \, M_{\lambda_0-}^{(\mathrm{app})} = I$, one has

$$M_{\lambda_0+}^{(\text{app})} = T_0^{-1}(M^{(3)}) = I + (\delta_{\lambda_0}^0)^{\hat{\sigma}_3} (T_0^{-1}(M_1^{(\infty)}) + O(t^{-\frac{1}{2}}\ln t)) (\sqrt{8t(\alpha + 6\beta|\lambda_0|)}(\lambda - \lambda_0))^{-1} + O((\sqrt{8t(\alpha + 6\beta|\lambda_0|)}(\lambda - \lambda_0))^{-2}).$$
(A.3)

Therefore, we get

$$J_{\lambda_0}^{(\text{app})} - I = (M_{\lambda_0-}^{(\text{app})})^{-1} M_{\lambda_0+}^{(\text{app})} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2}-\text{Im}(\vartheta(\lambda_0))}) \\ O(t^{-\frac{1}{2}+\text{Im}(\vartheta(\lambda_0))}) & O(t^{-\frac{1}{2}}) \end{pmatrix}.$$
(A.4)

In a similar way, we have

$$J_{\lambda_{1}}^{(\text{app})} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2} + \text{Im}(\vartheta(\lambda_{1}))}) \\ O(t^{-\frac{1}{2} - \text{Im}(\vartheta(\lambda_{1}))}) & O(t^{-\frac{1}{2}}) \end{pmatrix}.$$
 (A.5)

Appendix B

According to Eq.(3.21), we obtain

$$J^{(\text{err})} = (M_{-}^{(\text{err})})^{-1} M_{+}^{(\text{err})} = M_{-}^{(\text{app})} J^{(2)} (J^{(\text{app})})^{-1} (M_{-}^{(\text{app})})^{-1}.$$
 (B.1)

Since $M_{-}^{(\text{app})} = I$ on $\Sigma^{(\text{err})}$, one has

$$J^{(\text{err})} = J^{(2)} (J^{(\text{app})})^{-1}.$$
 (B.2)

Furthermore, we get

$$J_i^{(\text{err})} = J_i^{(2)} \ (i = 1, 2, \cdots, 8), \quad \text{outside } D_{\lambda_0}^{\epsilon} \cup D_{\lambda_1}^{\epsilon},$$

$$J_{\lambda_0}^{(\text{err})} = (J_{\lambda_0}^{(\text{app})})^{-1} \quad \text{on } D_{\lambda_0}^{\epsilon},$$

$$J_{\lambda_1}^{(\text{err})} = (J_{\lambda_1}^{(\text{app})})^{-1} \quad \text{on } D_{\lambda_1}^{\epsilon}.$$
(B.3)

Now, we will estimate the error of $J_7^{(\text{err})}$ outside $D_{\lambda_1}^{\epsilon}$. On the jump contour $\lambda_1 + \lambda_1 \rho e^{\frac{3\pi i}{4}} (\rho > \epsilon)$, the jump matrix $J_7^{(\text{err})}$ is

$$J_7^{(\text{err})} = J_7^{(2)} = \begin{pmatrix} 1 & r_2(\lambda)e^{-2ift}\delta_+^2 \\ 0 & 1 \end{pmatrix}.$$
 (B.4)

Observing

$$|e^{-2ift}| = e^{4\lambda_1^2 \rho^2 (\sqrt{2}\beta\lambda_1 \rho - 6\beta\lambda_1 - \alpha)t} \le e^{-\tilde{C}t}, \qquad \tilde{C} > 0.$$
(B.5)

Thus, we have

$$J_7^{(\text{err})} - I = J_7^{(2)} - I = O(e^{-\tilde{C}t}).$$
(B.6)

Similarly, we have

$$J_i^{(\text{err})} - I = J_i^{(2)} - I = O(e^{-\tilde{C}t}), \qquad i = 1, 2 \cdots, 8.$$
(B.7)

Moreover, from Eq.(A.4) and Eq.(A.5), it is easy to find

$$J_{\lambda_{0}}^{(\text{err})} - I = (J_{\lambda_{0}}^{(\text{app})})^{-1} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2} - \text{Im}(\vartheta(\lambda_{0}))}) \\ O(t^{-\frac{1}{2} + \text{Im}(\vartheta(\lambda_{0}))}) & O(t^{-\frac{1}{2}}) \end{pmatrix},$$

$$J_{\lambda_{1}}^{(\text{err})} - I = (J_{\lambda_{1}}^{(\text{app})})^{-1} - I = \begin{pmatrix} O(t^{-\frac{1}{2}}) & O(t^{-\frac{1}{2} + \text{Im}(\vartheta(\lambda_{1}))}) \\ O(t^{-\frac{1}{2} - \text{Im}(\vartheta(\lambda_{1}))}) & O(t^{-\frac{1}{2}}) \end{pmatrix}.$$
 (B.8)

Appendix C

The Cauchy integral formula on contour Σ can be defined as

$$(C_{\Sigma}(f))(\lambda) = \frac{1}{2\pi i} \int_{\Sigma} \frac{f(s)}{s-\lambda} ds.$$
 (C.1)

Let

$$C_V^-(f) = C_{\Sigma}^-(f(V-I)),$$
 (C.2)

where V is a matrix given in Σ , and $C_{\Sigma}^+, C_{\Sigma}^+$ denote the nontangential limits of the bounded operator C_{Σ} approaching Σ from left and right, respectively.

According to the RH problem (3.22), we can obtain

$$M^{(\text{err})} - I = C_{\Sigma^{(\text{err})}} M_{-}^{(\text{err})} (J^{(\text{err})} - I)$$

= $-\frac{1}{2\pi i \lambda} \int_{\Sigma^{(\text{err})}} M_{-}^{(\text{err})} (J^{(\text{err})} - I) ds + O(\lambda^{-2}),$ (C.3)

which indicates

$$M_1^{(\text{err})} = -\frac{1}{2\pi i} \int_{\Sigma^{(\text{err})}} M_-^{(\text{err})} (J^{(\text{err})} - I) ds.$$
(C.4)

Using Holder inequality, we have

$$|M_1^{(\text{err})}| \le C_1 ||M_-^{(\text{err})} - I||_{L^2} ||J^{(\text{err})} - I||_{L^2} + C_2 ||J^{(\text{err})} - I||_{L^1}, \qquad C_1, C_2 > 0.$$
(C.5)

Beside, it is not hard to get $||M_{-}^{(\text{err})} - I||_{L^2} \leq C_3 ||J^{(\text{err})} - I||_{L^2}$, $C_3 > 0$, then we finally obtain

$$|M_1^{(\text{err})}| \le C_1 C_3 ||J^{(\text{err})} - I||_{L^2} + C_2 ||J^{(\text{err})} - I||_{L^1}.$$
 (C.6)

Combining Eq.(B.7) and Eq.(B.8), we arrive at

$$|M_1^{(\operatorname{err})}(x,t,\lambda)| = O(t^{-\frac{1}{2} - \max\{|\operatorname{Im}\vartheta(\lambda_0)|, |\operatorname{Im}\vartheta(\lambda_1)|\}}).$$
(C.7)

Integrability and Asymptotic Analysis

Appendix D

The solution $M^{(\text{mod})}(\tilde{\lambda})$ of the model RH problem (3.41) can be given explicitly via using the Liouville's theorem and parabolic cylinder functions. Since the jump matrix $J^{(\text{mod})}$ is constant, the logarithmic derivative $\frac{d}{d\tilde{\lambda}}M^{(\text{mod})}(M^{(\text{mod})})^{-1}$ possesses continuous jump along any of the rays, which indicates that $M^{(\text{mod})}$ solves the following ordinary differential equation

$$\frac{d}{d\tilde{\lambda}}M^{(\text{mod})} + \begin{pmatrix} -\frac{i}{2}\tilde{\lambda} & \Psi\\ \Phi & \frac{i}{2}\tilde{\lambda} \end{pmatrix}M^{(\text{mod})} = 0, \qquad (D.1)$$

where $\Psi = i[M_1^{(\infty)}]_{12}, \Phi = -i[M_1^{(\infty)}]_{21}$. The solution of (D.1) can be written as

$$M^{(\text{mod})} = \begin{pmatrix} M_{11}^{(\text{mod})} & \frac{-\frac{i}{2}\tilde{\lambda}M_{22}^{(\text{mod})} - \frac{dM_{22}^{(\text{mod})}}{d\lambda}}{\Phi} \\ \frac{\frac{i}{2}\tilde{\lambda}M_{11}^{(\text{mod})} - \frac{dM_{11}^{(\text{mod})}}{d\tilde{\lambda}}}{\Psi} & M_{22}^{(\text{mod})} \end{pmatrix}, \quad (D.2)$$

where the functions $M_{jj}^{(mod)}$, j = 1, 2, satisfy the parabolic cylinder equations

$$\frac{d^2}{d\tilde{\lambda}^2} M_{11}^{(\text{mod})} + \left(-\frac{i}{2} - \Phi\Psi + \frac{\tilde{\lambda}^2}{4}\right) M_{11}^{(\text{mod})} = 0,$$

$$\frac{d^2}{d\tilde{\lambda}^2} M_{22}^{(\text{mod})} - \left(-\frac{i}{2} + \Phi\Psi - \frac{\tilde{\lambda}^2}{4}\right) M_{22}^{(\text{mod})} = 0.$$
(D.3)

According to the property of standard parabolic cylinder equation and $M_{11}^{(\text{mod})} \rightarrow e^{\frac{1}{4}i\tilde{\lambda}^2}\tilde{\lambda}^{-i\vartheta}$, $M_{22}^{(\text{mod})} \rightarrow e^{-\frac{1}{4}i\tilde{\lambda}^2}\tilde{\lambda}^{i\vartheta}$, $\tilde{\lambda} \rightarrow \infty$, we obtain

$$M_{11}^{(\text{mod})} = \begin{cases} (ie^{-\frac{3\pi}{4}i})^{i\vartheta} D_{-i\vartheta} (ie^{-\frac{3\pi}{4}i}\tilde{\lambda}) & \text{Im } (\tilde{\lambda}) > 0, \\ (ie^{\frac{\pi}{4}i})^{i\vartheta} D_{-i\vartheta} (ie^{\frac{\pi}{4}i}\tilde{\lambda}) & \text{Im } (\tilde{\lambda}) < 0, \end{cases}$$
(D.4)

$$M_{22}^{(\text{mod})} = \begin{cases} (ie^{-\frac{\pi}{4}i})^{-i\vartheta} D_{i\vartheta} (ie^{-\frac{\pi}{4}i}\tilde{\lambda}) & \text{Im } (\tilde{\lambda}) > 0, \\ (ie^{\frac{3\pi}{4}i})^{-i\vartheta} D_{i\vartheta} (ie^{\frac{3\pi}{4}i}\tilde{\lambda}) & \text{Im } (\tilde{\lambda}) < 0. \end{cases}$$
(D.5)

Then, we can get

$$\begin{split} M_{-}^{(\mathrm{mod})}(\tilde{\lambda})^{-1}M_{+}^{(\mathrm{mod})}(\tilde{\lambda}) = & M_{-}^{(\mathrm{mod})}(0)^{-1}M_{+}^{(\mathrm{mod})}(0) \\ = & \begin{pmatrix} (ie^{\frac{\pi}{4}i})^{i\vartheta}\frac{2^{\frac{-i\vartheta}{2}}\sqrt{\pi}}{\Gamma(\frac{1+i\vartheta}{2})} & (ie^{\frac{3\pi}{4}i})^{1-i\vartheta}\frac{2^{\frac{1+i\vartheta}{2}}\sqrt{\pi}}{\Phi\Gamma(\frac{-i\vartheta}{2})} \\ (ie^{\frac{\pi}{4}i})^{1+i\vartheta}\frac{2^{\frac{1-i\vartheta}{2}}\sqrt{\pi}}{\Psi\Gamma(\frac{i\vartheta}{2})} & (ie^{\frac{3\pi}{4}i})^{-i\vartheta}\frac{2^{\frac{i\vartheta}{2}}\sqrt{\pi}}{\Gamma(\frac{1-i\vartheta}{2})} \end{pmatrix}^{-1} \\ & \times \begin{pmatrix} (ie^{-\frac{3\pi}{4}i})^{i\vartheta}\frac{2^{\frac{-i\vartheta}{2}}\sqrt{\pi}}{\Gamma(\frac{1+i\vartheta}{2})} & (ie^{-\frac{\pi}{4}i})^{1-i\vartheta}\frac{2^{\frac{1+i\vartheta}{2}}\sqrt{\pi}}{\Phi\Gamma(\frac{-i\vartheta}{2})} \\ (ie^{-\frac{3\pi}{4}i})^{1+i\vartheta}\frac{2^{\frac{1-i\vartheta}{2}}\sqrt{\pi}}{\Psi\Gamma(\frac{i\vartheta}{2})} & (ie^{-\frac{\pi}{4}i})^{-i\vartheta}\frac{2^{\frac{i\vartheta}{2}}\sqrt{\pi}}{\Gamma(\frac{1-i\vartheta}{2})} \end{pmatrix} \end{split}$$

W.Q. PENG, Y. CHEN

$$= \left(\begin{array}{cc} 1 - r_1(\lambda_1)r_2(\lambda_1) & -r_2(\lambda_1) \\ r_1(\lambda_1) & 1 \end{array}\right), \tag{D.6}$$

which leads to

$$\Psi = \frac{\sqrt{2\pi}(-1)^{i\vartheta(\lambda_0) + \frac{1}{2}} e^{-\frac{3\pi i}{4} + \frac{\pi\vartheta(\lambda_0)}{2}}}{r_1(\lambda_0)\Gamma(i\vartheta(\lambda_0))}, \qquad \Phi = -\frac{\sqrt{2\pi}(-1)^{-i\vartheta(\lambda_0) + \frac{1}{2}} e^{-\frac{\pi i}{4} + \frac{\pi\vartheta(\lambda_0)}{2}}}{r_2(\lambda_0)\Gamma(-i\vartheta(\lambda_0))}.$$
 (D.7)

Conflict of Interest

The authors declare no conflict of interest.

=

References

- Ablowitz, M. J., Luo, X.D., Musslimani, Z.H. Inverse scattering transform for the nonlocal nonlinear Schrödinger equation with nonzero boundary conditions. J. Math. Phys., 59: 011501 (2018)
- [2] Ablowitz, M.J., Musslimani Z.H. Integrable nonlocal nonlinear Schrödinger equation. Phys. Rev. Lett., 110: 064105 (2013)
- [3] Ablowitz, M. J., Musslimani, Z. H. Inverse scattering transform for the integrable nonlocal nonlinear Schrödinger equation. Nonlinearity, 29: 915–946 (2016)
- [4] Boutet, de Monvel A., Kostenko, A., Shepelsky, D., Teschl, G. Long-time asymptotics for the Camassa-Holm equation. SIAM J. Math. Anal., 41: 1559–1588 (2009)
- Buckingham, R., Venakides, S. Long-time asymptotics of the nonlinear Schrödinger equation shock problem, Commum. Pure Appl. Math., 60: 1349–1414 (2007)
- [6] Cen, J., Correa, F., Fring, A. Integrable nonlocal Hirota equations. J. Math. Phys., 60: 081508 (2019)
- [7] Cheng, P.J., Venakides, S., Zhou, X. Long-time asymptotics for the pure radiation solution of the sine-Gordon equation. Commun. Part. Diff. Equations, 24: 1195–1262 (1999)
- [8] Deift, P.A., Zhou, X. A steepest descent method for oscillatory Riemann-Hilbert problems. Ann. of Math., 137: 295–368 (1993)
- [9] Gardner, C.S., Greene, J.M., Kruskal, M.D., Miura, R.M. Method for solving the Korteweg-deVries equation. Phys. Rev. Lett., 19: 1095 (1967)
- [10] Geng, X.G., Wang, K.D., Chen, M.M. Long-Time Asymptotics for the Spin-1 Gross-Pitaevskii Equation. Commun. Math. Phys., 382(1): 585–611 (2021)
- [11] Grunert, K., Teschl, G. Long-time asymptotics for the Korteweg-de Vries equation via nonlinear steepest descent. Math. Phys. Anal. Geom., 12: 287–324 (2009)
- [12] Guo, B.L., Liu, N., Wang, Y.F. Long-time asymptotics for the Hirota equation on the half-line. Nonlinear Anal., 174: 118-140 (2018)
- [13] He, F.J., Fan, E.G., Xu, J. Long-Time asymptotics for the nonlocal MKdV equation. Commun. Theor. Phys., 71(5): 475 (2019)
- [14] Huang, L., Xu, J., Fan, E.G. Long-time asymptotic for the Hirota equation via nonlinear steepest descent method. Nonlinear Anal.: RWA, 26: 229–262 (2015)
- [15] Li, Y., Tian, S.F. Inverse scattering transform and soliton solutions of an integrable nonlocal Hirota equation. Commun. Pur. Appl. Anal., 21(1): 293 (2022)
- [16] Li, N.N., Guo, R. Nonlocal continuous Hirota equation: Darboux transformation and symmetry broken and unbroken soliton solutions. Nonlinear Dyn. 105: 617–628 (2021)
- [17] Ji, J.L., zhu, Z.N. Soliton solutions of an integrable nonlocal modified Korteweg-de Vries equation through inverse scattering transform. J. Math. Anal. Appl., 453: 973–984 (2017)
- [18] Pelinovsky, D.E., Shimabukuro, Y. Existence of global solutions to the derivative NLS equation with the inverse scattering transform method. International Mathematics Research Notices, 18: 5663–5728 (2018)
- [19] Peng, W.Q., Chen, Y. N-double poles solutions for nonlocal Hirota equation with nonzero boundary conditions using Riemann-Hilbert method and PINN algorithm. Physica D: Nonlinear Phenomena, 133274 (2022)
- [20] Peng, W.Q., Tian, S.F., Wang, X.B., et al. Riemann-Hilbert method and multisoliton solutions for threecomponent coupled nonlinear Schrödinger equations. J. Geom. Phys., 146: 103508 (2019)
- [21] Rao, J.G., Cheng, Y., He, J.S. Rational and semi-rational solutions of the nonlocal Davey-Stewartson equations. Stud. Appl. Math., 139: 568 (2017)
- [22] Rybalko, Y., Shepelsky, D. Asymptotic stage of modulation instability for the nonlocal nonlinear Schrödinger equation. Physica D, 428: 133060 (2021)

- [23] Rybalko, Y., Shepelsky, D. Long-time asymptotics for the integrable nonlocal nonlinear Schrödinger equation. J. Math. Phys., 60(3): 031504 (2019)
- [24] Rybalko, Y., Shepelsky, D. Long-time asymptotics for the nonlocal nonlinear Schrödinger equation with step-like initial data. J. Differ. Equations, 270: 694–724 (2021)
- [25] Tovbis, A., El, G.A. Semiclassical limit of the focusing NLS: Whitham equations and the Riemann-Hilbert Problem approach. Physica D, 333: 171–184 (2016)
- [26] Wang, D.S., Wang, X.L. Long-time asymptotics and the bright N-soliton solutions of the Kundu-Eckhaus equation via the Riemann-Hilbert approach. Nonlinear Anal.: RWA, 41: 334–361 (2018)
- [27] Wang, M.M., Chen, Y. Dynamic behaviors of general N-solitons for the nonlocal generalized nonlinear Schrödinger equation. Nonlinear Dyn., 104: 2621–2638 (2021)
- [28] Wang, X., Wei, J. Three types of Darboux transformation and general soliton solutions for the spaceshifted nonlocal PT symmetric nonlinear Schrödinger equation. Appl. Math. Lett., 130: 107998 (2022)
- [29] Xia, Y.R., Yao, R.X., Xin, X.P. Darboux transformation and soliton solutions of a nonlocal Hirota equation. Chin. Phys. B, 2021
- [30] Xu, J., Fan, E.G. Long-time asymptotics for the Fokas-Lenells equation with decaying initial value problem: without solitons, J. Differ. Equations, 259(3): 1098–1148 (2015)
- [31] Yang, J.K. Nonlinear Waves in Integrable and Non-integrable Systems. Society for Industrial and Applied Mathematics, 2010.
- [32] Zakharov, V.E., Manakov, S.V., Novikov, S.P., Pitaevskii, L.P. The Theory of Solitons: The Inverse Scattering Method. Consultants Bureau, New York, 1984
- [33] Zhang, G.Q., Yan, Z.Y. Inverse scattering transforms and soliton solutions of focusing and defocusing nonlocal mKdV equations with nonzero boundary conditions. *Physica D*, 402: 132170 (2020)
- [34] Zhang, X.E., Chen, Y. Inverse scattering transformation for generalized nonlinear equation. Appl. Math. Lett., 98: 306–313 (2019)
- [35] Zhou, H.J., Chen, Y. Breathers and rogue waves on the double-periodic background for the reverse-spacetime derivative nonlinear Schrödinger equation. Nonlinear Dyn., 106: 3437–3451 (2021)